Paper: MANIPURI

Set Name: || SET 04

Exam Date: || 30 Aug 2022

Exam Shift: || 2

Langauge: || Other

Section:

MANIPURI

Item No:

1

Question ID:

395811

Question Type:

MCQ

Passage:

RE°l Rl TOf RET MM s RISTIOMD TOfFRT TRFZ IMERF 73T |

NRE RIRAT MOf ZTEU°R ART NULS #fch Hass Ofos, » RS S¢se  Wf
CMRFSE RO &0 & KIOF THCF CEHAR TR I BCNFIT RN CTEFRT AT
REIME OeBEemt BFEIS 3o z°3 WofMf RefDs R BewR, REFRS JCTRET 250 |
MITIRT AT BIMA7AY TROD WICTIRIT CULF Toa®S ;mzhﬂnfcf | REC AW
TRT DR B5CI Re- 0 AR MEOFTT I SRS THA'ST FRRSZFRE T[40 THeTs
RRE KOZHHET KU F°Fk (FIKCH T U3T }sxﬂa‘mwf RCIY AT CONRT | e B3°FRM TP
:mtg;ie BRURS I REF TOFT BE'S% WIS MAHTS ABZR T HE° || KT RATIK H:7a‘ FReofm
BEAICT I| TEF OB THU A5 | TAUsT CfUds Wt ARBRCT Il TA THT R Rl
THROD TSTIMF KRBT SMBC STF I KT Opg THefds CUk T TR OBL THS
WIRTT BES BeRU RRC IfC WEteEn FOBHT ERIORT TZHMT KRBT ANl | ROFT
RATET ¥OH uf":smrm%‘a‘fz RCOTNF TATE Fefl BFSTF I TTORT OBIR BEM OT°T
E¥ER BTN BeTIVFS BCZ Tk ESC, AT 3ONSH°OBT gzduf T°hefs Jis ki MFLS
R Il REFRR B0 URT RS WEINT I

NI OF W IS Ty fHfZ3M e =fsmon =g moyw 9 |

Y12 AT & GArAer AT YR FRoW 23RS f5iex, 2 FUen vy B
LTI ©le o AT fH®T 82N (FTFEAT (MY | FAISTINT NN (NFHAM EfoE
WNOF AIFEN e AT (Ot SN ANeRT N S, Tl (TSI =i
| SCATEHT Zo 2ge08=a S SIATEAT (B1eTN N rSe =S | 3
W8I SENT WCATFN FTHLA | IR-NAT (RIS AN | T 82791 TAIRIAN H e
ST WO 2RO AT CNMRGA 8¢1 2AICOAN AT AT ATSIY | T/
] WAE ST FIAAY| VI WA 2790 Ae - NN TWI S3(F 1A
WIS W= W oN=fg | oo g 8371 (92 | weisin [tsamy wef® =rmawf~ |
W=7 8391 Mee-TN s WAHIN WS F1rI T2 | WA Ga SAI0EHT

ST S AN Qg SN CAIGNFT T8I FISHAT THT A1 (SHIZIW 2330
AfSeaT AN WA Y | W= W=fE 9w S2amofaar AfSon == W
SHW | (GIACEIA FEW F Alon FI8INE OF FABT OG] W FqA, XGF
AHATCBI ATGHTAT S2IAT GIEm YT SN 5814 | TFIT FIH NI2N FI8IRS
oYY |
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Section:

MANIPURI

Item No:

2

Question ID:

395812

Question Type:

MCQ

Passage:

RE“D RR°I TOF RET RPN Frs RIGTIOMD TOFRMT TRES RERF XIC |

NRE RIRFT H0f TR AKT NULS #Afch HKoss ofos, B ERC S¢se  Wf
MRS BO &0 5 WIOF THCF JEAH ICTRTI BCMFST RN ICTEFRT AT
RETME OeBe™f BREIR Sofs 7°3 WOIMt Fofms & sia'rrnir REFES WCORCT AT I
WRTIRT #AIZF B3MA A TROD WICTIRIT CTLF TMoa®S a;rrﬁ:mnmzf | REC AW
AT ORTR BT Re- T AT MEOFTT | TR THes’ FRAZFRT TAD THeTs
X3 REZHHET RU°F°FR OIBCH TO3T $3°WCIT RO AT TR I ki F3°FRO THEIF
MTHCT BHTRT 1| REOF TOFT BEEH IMIFS- IASTE ABFR THE* || FC°T RATK fpd ROTD
WEAICT | TES R THT ZeTS | TAURT CfOLH ROl AKSHCT I TA THT RIMTH- KT
THROD TSCIMT kAT CMBC U5 I kT OB Thelds ok T TR OB ThE
WIRTT BES BeRC 2T IfC WEteER FOHT ERIORT TR RBRTN ANl | RofT
FRATHET WO THReTER TS REOMT TATE Rkl BF3CTI TTORT QEIR BSM OT°C
ESER BACN BATIURE BEZ T EXT, AT SUMNSHeOBT Azdul THels disn kN WFL3
R0 | REFRS WA CHT EEER BRINT I

A WoF | 9N oy 433 =fsmon wgar omeyw ¥ |

Y12 AT & GArAer T YA FRoW 23RS f5is%, 2 FUOT srvy
CLHER ©12 wo RT fH®T SR (eTF2WT (MY | FNSTINT WO (TFeNm Gfee
W@ FIFEN e I3 (Gt SN TaeHq N S13l, Tl (TSI =i
| SCATENT (2T 2eT8I= e SANTFEANT (GIATH Vet 8eT rgae3ifw | g
G2 Q2T WINEN FIRCA | IA-ASHAT (RIS Y HN | T 837 TR e
S2IF]T WO 2RO AT CNMRGH 821 2AITOAIN AT AHAT ATSIY | T/
T W ST FIANY | TIW W6 2790 A0 - ARSI THIY 82 [N
WEIE® Wx W OW2g | o g 8391 (72 | W [texymy wf® =rmaqf« |
w31 831 Nee-Ttw Wy WANIN NEHST FTGH] a2 | WA GIa SIS

ST ST AT G TN CATSATFHT FI8IT FISHAT TIHT AT CSIfIIINT 20T
A6 ST WEWST C2fY | W= W=fE Sow SEa|maifaar AfSon S==ar 9
TR | (GRS FEH1 F Alon FI8IR: SHI FAST SO WA T, ROF
IHECIB! ANGTAT ST BIemw YT SN 5.8fY | THrm F1 W13 F18Ine
oAty |

Question:
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Section:

MANIPURI

Item No:

3

Question ID:

395813

Question Type:

MCQ

Passage:

RE“D RR°I TOF RET RPN Frs RIGTIOMD TOFRMT TRES RERF XIC |

NRE RIRFT H0f TR AKT NULS #Afch HKoss ofos, B ERC S¢se  Wf
MRS BO &0 5 WIOF THCF JEAH ICTRTI BCMFST RN ICTEFRT AT
RETRE OoBemf FREIR Zofs 7°9 WONMT RS T RewRT, REFES WCORCT AT I
WRTIRT #AIZF B3MA A TROD WICTIRIT CTLF TMoa®S :m#mn‘afrzfn RET AW
AT ORTR BT Re- T AT MEOFTT | TR THes’ FRAZFRT TAD THeTs
X3 REZHHET RU°F°FR OIBCH TO3T $3°WCIT RO AT TR I ki F3°FRO THEIF
MTHCT BHTRT 1| REOF TOFT BEEH IMIFS- IASTE ABFR THE* || FC°T RATK fpd ROTD
WEAICT | TES R THT ZeTS | TAURT CfOLH ROl AKSHCT I TA THT RIMTH- KT
THROD TATIWF RBERTR SMBC STF I kT Opg THefds CUk T TR OBL THES
WIRTT BES BeRC 2T IfC WEteER FOHT ERIORT TR RBRTN ANl | RofT
FRATHET WO THReTER TS REOMT TATE Rkl BF3CTI TTORT QEIR BSM OT°C

ESER BACN BATIURE BEE T EXC, AT SUMNSHeOBT dzdul THels disn ki WFL3
RAF | RERSR WEM UHT B BRINT I

A WoF | 9N oy 433 =fsmon wgar omeyw ¥ |

Y12 AT & GArAer T YA FRoW 23RS f5is%, 2 FUOT srvy
CLHER ©12 wo RT fH®T SR (eTF2WT (MY | FNSTINT WO (TFeNm Gfee
W@ FIFEN e I3 (Gt SN TaeHq N S13l, Tl (TSI =i
| SCATENT (2T 2eT8I= e SANTFEANT (GIATH Vet 8eT rgae3ifw | g
G2 Q2T WINEN FIRCA | IA-ASHAT (RIS Y HN | T 837 TR e
S2IF]T WO 2RO AT CNMRGH 821 2AITOAIN AT AHAT ATSIY | T/
T W ST FIANY | TIW W6 2790 A0 - ARSI THIY 82 [N
WEIE® Wx W OW2g | o g 8391 (72 | W [texymy wf® =rmaqf« |
w31 831 Nee-Ttw Wy WANIN NEHST FTGH] a2 | WA GIa SIS

ST ST AT G TN CATSATFHT FI8IT FISHAT TIHT AT CSIfIIINT 20T
A6 ST WEWST C2fY | W= W=fE Sow SEa|maifaar AfSon S==ar 9
TR | (GRS FEH1 F Alon FI8IR: SHI FAST SO WA T, ROF
IHACIR! AT S2(FIT GTEm YT SN 5.4 | TH0p F19 W12 FI8INe
oAty |
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Section:
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Item No:

4

Question ID:

395814

Question Type:

MCQ

Passage:

RE°l T TOf RET MM ks RIeT3OfD TOfFRf TREZ IMERF 73T |

NRE RIRAT MOf ZTEC°R ART NULS #AfCh Hass Ofos, B RS S¢se  Wf
MCTMRFSE RO &0 & KIOF THCF CEAR TR I BCRFIT RN WCTEFRT AT
RETME eBEemt BFEIS 3% z°3 WOl RefDs R BewR, REFRS JCTRET 25T |
MKTIRC #ZH BIMA"7Y TROD DCTRITC XCOLF Tf00 TRETFEICT I RFT T
THC TR BT Re- v ATR WEofel | aH THes! RRASFRT TAD THats
RRE ROZHHET KU F°Fk (FIACE T U3T BT TS MHRC SRS Il Fk BE°FREY Tk

:mmilz BRURT | RE'F WOFT KE3 M- IMASTS ARIR THE° | RE°T FATIK lﬁ FRoofm
WEAIET I| TES OB KT AT | TAxnf cfods Yt ARBRCF Il TA THT I Rl

TROD THTIMT RRRTR SMRC STH I KT OB THelin CCOk T TR OR T3
WORTT BE3 BeRU RRC I WETET HOEAT ERIURT WEHRMT RBT ANl | RoTT

RATET M5 mmmg‘fz REOFV TATE Rl BFSTT I TORT OEIR BEO OT°T
E¥ER BTN BTIVFS BCC T ERC, AT 3ONSH°OBT gzdtf T°Hhefs Jis kit MFES
RANT | RERSS BEO CHT EFEH BRENT I

NI WO | M5 Wy i3 =fsmon s omeyw ¥g |

Y12 AT & GArAer AT YR FRoW 23RS f5iex, 2 FUOn vy B
CTLEET Ol wo 7T @ SR (eTFIERT (NSHY | SAISNIAT NN (NESNY (HfoE
W@ FIFFM e Az oE o Tatew N o1, TEwm s TR
| SCATEHT Zo 2ge08=a S SIATEAT (B1eTN N rSe =S | 3
W8I 82N WIATEN FTRCA | TAT-NAT IS AfHI | 71 23 TA2IAA e
ST WO 2RO AT CNMRGN 821 2AICOAN AT AFAT ATSIY | T/
] WAE ST FIAAY| VI WA 2790 Ae - NN TWI S3(F 1A
WIS W= W oN=fg | oo g 8371 (92 | weisin [tsamy wef® =rmawf~ |
W= 831 Tee-Ttw W WININ NECHST FTrSA TFE2 | WA Ta SAICEAT
(HISHT SAT NN g NG CATSATHT T8I FISHAT WA AT (SIfIFIART 27101
aAfoean s WErare <Y | = w=fE gow S2FmiifRa f S s IRt
SEW | (TS FEHT FH Hlow FI8IRS OHI FAST SGT WA T4, XS
AHATCBI ATGHTAT S2IAT GIEm YT SN 5814 | TFIT FIH NI2N FI8IRS
oYY |
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MANIPURI

Item No:

5

Question ID:

395815

Question Type:

MCQ

Passage:

Rl RNl TOT RET MM Frs RIGTIOMD TOFRMT TRES WERF XIT |

NRF RIRAT HOf TR AKT NCLS #AfCh Hass ofos, B RS s¢se  f
MMRRSE BO &0 5 WIOF THCF J@AR ICTR. I BCMFST RN ICTEFRT AT
RETME OgBeTT FFEIR SoT8 2°3 Toflf RefOs Rl BeWkR, REFRS JCTIRET  A50 I
MRTIRT #AIZF BIMAAY TROD DICTIRIC CTLF TToa®S mﬁ:mrmfuf | REC AW
TRT TRTR B5TI Ro- 07 AeTIR MEOFTT | TR THa3’ A3 FRE TAD THeTs
RRE HEZSHET RU°F Rk OVINECH TU3T F3°WCIT RCIY AT SURS I i FI3°FRO THF
AERT BHURT 1| R TOTT REEH IR TRFHTE 73 ABEH THE* | FC°T FATIK R ROfD
WEAICT I| TEF OB T°HU AT | TAUSRT CrUdH Wt ARZRCS Il TA LK L
THROD TSTIMF RBERTR® SMBC STF I kT Opg THafds OOk T TR OB THS
WORTT BES BeRU RRC IfT WEteER FAOEHT SRIORCT CZHRMT BETN ARl Il KOTC

RAIET IR THReTER TS REOTMT TATE FiRl BF3TT I TTORT QIR BCO OTT

E¥ER BTN BeTIVFS BCC T ESC, AT OMSseOBT gzduf THhefs Jisn kit MFLS
RANT | RERSR BEO CHT EFEH BRINT I

MR WSS ST A5 Wy i wfsmon wgar omeyw ug |

Y12 AT & GATAer w1 YR FRoW 23RS f5iex, 20 T vy B
LTI ©1e o W fHET 82X (FTFEWT (MY | FAISTIAT TN (NFFAM EoE
WAOFE FIFEN e A O SN TaleHT N S, Tl (NS =
| SCATEHAT (RO 2ge08=a S SIATE AT (B12TH (et =S 3ifw | 3
WG Q2T WINEN FTRCA | IA-FSAT (RIS YfHN | T 83731 TR WEIe
S2II]T VoY 2RO AT CNMRGN 821 2AICOAIN AT AFAT AR | 7
] WS ST FAAY | TIN WA 3790 A - NN TWI 83 [NCHAA]
WEIE¥ WE W Oy | WS g 83 (X792 | weiefn [texmy wef® zrmaqfw |
7= 8371 Nee-Tw WA WATHIN NS FIrGA TNF2 | WA A SIS

ST ST AN g SN CAIENFT FI8IT FISHA THT A1 (SHIZIW 2330
Ffoeqa SN WErwST (&Y | Wi I 9ew sErFrifIa Afsim sz I
SA | (GRS FEH1 FIH Alow FI8IRE SHI FAST SNGT WA T, EGE
IHECRIP! ANGETAT S2IFT BIEW YT SN 5&fY | Twpm F1 W12+ F18Ine
oNAfY |

Question:
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Section:

MANIPURI

Item No:

6

Question ID:

395816

Question Type:

MCQ

Passage:

Rl FR°T TOF RET RN Fnd RIGTIOMD TOFRMT TRES WERF XIE |

XR% RIRET AOf ZEU°R ARC Nee's ATk Kass Of0s, B BRC S¢se Wl
MCMRFSE BO &0 5 WFOF THCF JBHH ICTRT I BCMFST ol TTERRT  AZfT
REPRE OQBEemf FREIR Zofs 73 WOfMT Fofms & sia'rrnir REFRS TCTRET  ARC I
MRTIRT AIZF BIMA7AY TROD DICTIRIC CTLF Trhaa™S mﬁwrmfrzf | REC AW
TR ORI BECI Re- TF AT MEOFTT I SRS THAST FRAZFRE TA0 THeTs
RRE REZHSHET KU F°Fk OIVECH T U3T FEITH RIS MHRC STl Il Fk BI°FRE Tk
MTHRT BRURT | REF TOFT K34 IMIFS- MASTS ARER T°HE || FE°T FADTK fn ROMD
BEAICT | TES OB THT AT | TADsT CfOLs ROl AKSHCT I TH THT RMT#- KT
THROD TATIMF RBERTR® SMBC STF I kT OB THefds OOk T TR OB THS
WORTT BES BeRC 2T IfC WteE® FOBHT SRIOHRT T2HRIT RBT ANl | ROFT
RAIET OR THReTER TS REOTMT TATE FiRl BF3TT I TTORT QIR BCO OTT

E¥ER BACIN BeTIVFS BCZ T ESC, AT SUNSH°OBT gzduf THhefs Jisn kit MFSS
RAWT 1| RERFR BEO OFT ESEF BEINC

A WSS @ A5 Wy i wfsmon wgar omeyw ug |

Y12 AT 8 GAtAer =1 YR FRoW 23S f5iex, 20 FO7 syrvy
CTLSSTR ©1e Wo W (SN S3RTN (AR (NF(Y | FAISTIA VN (NFFAM EfeE
WAOF FIFEN e CAfga (OFT SN TAeHT N S131, Tl (SIS =i
| SCATEHAT (RO 2ge0E=a S SIATE AT (B12TH et =S 3if= | 3
WG Q2T WINEN FTRCA | IA-FSAT (RIS Y HN | T 823731 TR WETe
82T WO 2RO AT CNMRGN 821 2AICOAIN W1 AFAT AP | T}
] WAE ST FIAAY | TIN WA 3790 A - NN NI 83 [NCHAA
WEIEY Wiz W OwElg | o g 83 (072 | W [teymy wf® =rmagw |
7= 8371 Nee - WA WATHIN NS FIrGA TNF2 | WA G SIS

ST ST AN g NG CAIGNFT FI8IT FISHAT WHT A1 (SHIZIW 23300
FfoeqAT ST WErwST (Y | Wi I 9ew sErFrifaa Afsim sz Tt
SR | (GRS FEH1 FIH Slow FI8IRe SHI FAST SNGT WA T, EfGE

IHECRIP! ANGETAT S2fIAT BIHW YT SN 5&fY | Twpm F1 W12+ F18Ine
SNy |

Question:

‘TAORT CTOLR W h ABSIT RACL TN

‘weref Mo weE: TRt IEmEfe -

TAOT CIOL =% 35% (W3) AKSCT

SGIEHT [TeAT BT WWAT (Y42 qT) T |

WMITETAmf SHXs Ozt PO THNES KLT %S |

HfFTOM TGS *MTS AT TN S2MIAT W3 U&7 |

WAl R MES MER° CTODR NS |
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Section:

MANIPURI

Item No:

7

Question ID:

395817

Question Type:

MCQ

Passage:

Rl RR°T TOT RET REM kR RIGTIOMD TOFRMT TRES RERF XIT |

NRE RIRAT A0f ZCC°R ART NULS #Afch Hass ofos, B RS Sese  Wf
OCMIRSE BO &0 5 WIOF THCF J@AR ICTRTI BCMFST RN TCTEFRT AT
REFRE OB’ BREIN Jats 23 WONMT RefOR & BeRHE, RERSS TCTIRCT  A%KT |
DRTRT 7(ZH RIWA7AT TROD WICTIRIT XCWLF Tfmaa™S TREOREITT I RFT T
THT TRTR 8501 Re- v AerR MEOFET | TR THa3T FRAERRC TA40 THeTs
RRE KEZHSHET KU F°HR OINECH TU3T $Z°WTIT RIS AT SURS I Fie F3°FRO T
AMTHRT BRURT | Re'F TOFT K34 M6 eSS ARER T°HE° || RU°T FAITK fos RO
WEAIST I TES OB T°HT AT | TAURT TfOds Wl ARIRCT | TA THT RIT#- RIT
THROD TECITf KRBT S°MBC U5 I kT ORe THelds COk T2 THRC OR THE
YWORTT E¥3 BT RRT IfC WEfe3s Kes40 SRIURT T2amf RETS Al kofT
RATET B0 THOTENATS REOTNf TATS fik BF3TT I CTORT OBEIR BEO OTT
E¥ER BACN BOTIVAE BEZ T ERT, AT STMNEH°OBT Azdul THefs dJBxn ki WFE3
R+%f I| REFSS WEe UHE M35 WELNT

AR WO | 1IN w1 fHfZ3fe =i5msn wgar omeyw ¥g |

Y12 VAT & TAraer a1 48A33 (2o 2319 0%, 32 96 Svbv B
LA O12 wo W ™Y 2RI (FTFEAT (NFY | FAISTIAT N3N (NFSAM X GE
W@ TIFEN 2FEWT IR (O SN NAISHT N ST, NSO (TFN =T/
| WCATEIT (RO 208 Wy SUANTEAT (G1e2TW fNetSeT aeeTif | 7
WG SENT WIANTFEN FTRA | TTN-NHAT (IS AfHN | 747 S2J3 TAAIHAT e
S2fI31 TG 2AROB! A CNMIGN 8231 IO NS AT FNB(Y | T/
] WA ST FAAY| WIN WA 27O AL - NN TWAY 83 [NCHAT
WZFY Wz e ON=fE | WS g 8371 (5732 | Wi Nty w&f® zrgamf« |
=1 821 Nee-Ttw Wy WIANIN NEAHST (TG 2 | WA QI SIS
(IS ST AT QG SN (YTSATHT FI8IT FISHAT THT A1 COIfIIIRT 21701
Afee samgon WEoare (Y | = w=fE Sow S2amviifza ofsi s IRt
TR | (GRS Fe1 FI Alow FI8IRE OHI FAST SNGT WA FqAI, (RGF
MBI ATGETAT S2fFT GremT W4T SN_T 5.4 | TS0 F1H V2N FISINS
oNYfY |

Question:

HEEHT WO, RIS5ETR SN STRTBMe 2

2RO FAIN AT ETNGA] B LI ?

Rl WU Whetl ToTSoT RSews i

e Mw ww WI=IN TS |

vfmE, WaOF TEOTmmf Rssmws i

fNetdt, =8y St et wEreT |
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Section:

MANIPURI

Item No:

8

Question ID:

395818

Question Type:

MCQ

Passage:

RE°D RN TOF RET RN Frs WIGTIOMD TOFRMT TRES MERF XIE |

NRF RIRFT A0f ZCC°R AKT RCLS #fch Hoss OfOns, B HWRC S¢se  Wf
OMESE BO &0 5 WFOF THCF SEAR ICTRTI BCMFST RN ICTEFRT AT
RETRE OoBemf FREIRN Zofs 7°9 WONMT RIS T ReFRT, REFES TCTRET  ARC I
WCTIRT AIZHF B3/ TROD WICTIRIT CTLF TMoa®S :ma’:mn‘sﬁzfn RET AW
THT DT BT Re- T AT MEOFTT | TR THas’ FRAZFRT TAT THaTs
X3 REZHHET KU F Rk OVBCH TO3T F3 W T RCIS WMRC TR I R F3°FRO THEF
METHC BHURT I| RO TOFT BEEH T4 IAHSTS ABER THE* || FC°T FAIIK s ROTD
WEAIET | TES R THT AT | TAURT CfODH ROl ABKFHCT I TA THT RITH- RIT
THROD TATIMF RBERTR SMBC STF I kT OBy THefds CUk T TR OBL THS
WIRTT BFS BeRC 2T IfC WEteER FOHT ERIORT TR RBRT ANl | RofT
RATHET WO CHROTERTS REOMT TATE Rkl BF3CTI TTORT QEIR BSO OT°T

Eﬁaﬁ’mauv W fIVFS BT mé’ac AT FOMEHOET AzdUl T°HaTs JB% kn WSS
RAWT Il FRERSH méo) CHE BEEERN WELNT I

NI WCoF | 5N a1 i3 =fsmon wgar omeyw ¥g |

Y12 AT & GArAer T YA FRoW 2311w f5iex, 2 T vy
CLSES ©12 wo RT fH®N S2RTT (eTF2WT (NS(Y | FNSTINT WO (TFeNm GfGs
W@ FIFEN e (AfF3 (OF o0 TAlew N S, T (nFIfe =T
| SCATENT (2O 2eT8I= S SCATFEANT (BIATH 8= rgae3ifw | g
G2 Q2T WNMEN FTHCA | IA-ASAT (RIS A HN | T 827 TAAIAN e
S2IRT oI 2RISR AT CNMRGH 82 RICOTAN ST AT ATFY | T/
T WNE ST FIANY | TIN W6 3790 A0 - ARSI THIY 82 WA
WTIFY WiZ W Ow2g | o g 8391 (72 | W [texmy wEf® =rmaqf« |
W= 831 Nee -t Wy WANIN NEHST TG A2 | WA GIa SIS
(HISNT ST TN G SN (YTSATHT T8I FISHAT THT A1 CSIfIFIRT 21701
A6 ST WEHST 2y | W= W=fE Sow SEaqwmiifaar AfSon S==ar I9
GEW | (GTCET FEHT F1H Hlow SI8IRS OHI FAST SHG1 WA FqAI, (XS
IAHACIR! AT S2(FIT GTem YT SN 5.4 | THpn F19 W12 FI8INe
oAty |

Question:

BAEHT OB T THNT RERTY 500 2RI STl ROFsT:

SIS FEON ST SN WS 22018 AWM wIwln -

aneflr ECU BEITHEHMICT |

23 SO SfARIN |

QESE 3°aT SIIRIITT I

FT ([T AFAN |

ORE TH3 RFT RS BLCHC WDRTT EEF BESTCT |

IE SN THT O SIS2HT (YTSNHT FI8IT FISINA |

Snefr BUMIRT FHHC SLTIRLICT |
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RIF SIEINHAT GIAT CFTRTF AN

Section:

MANIPURI

Item No:

9

Question ID:

395819

Question Type:

MCQ

Passage:

RE°D FR°T TOT RET RPN Frd RIGTIOMD TOFRMT TRES RERF RIC |

XRF RIZAT AOf TET°R AKT NCL'S #Afchk Hass ofDs, K WRC S¢se  Wf
MCMIFSE RO &0 & WIOF THCF JEES IWCTRT I BCNFIT RN WCTEFRT ACfW
RETME BTt FFEIR 3o z°3 WOl RefDs R BewR, REFRS JICTRET  A%C |
MTIRT AIZHF BIMA A TROD WICTIRIC CULF Croaa™S mﬁqﬂmr | REC AW
TRT DR BT Re- 0 AWK MEOFTr | SR THasT RRA3FRE TAD THeTs
RR3 REZHET KU F°FRk OMBECE TU3T $3°HTRT RCIY WHC SU%T | FRk F3°FRO TP
MTHT BRURS | RPF TOFT BB M5 MAHTE ABFH T°HE* | FC°T FATIK s oD
WRAIET I TES ORe T°HT AT | TAURT Cfods Wl ARZRCT | T4 THT RIT- RIT
THROD THTIMT RETN SMBC STF I kT OB THelds COk TC TR OBg THS
WURTT BES BwRU RRC IfT Watasw ROEHT ERIORT TEaml RB5TN A0l | ROFT

RATHET FOF CReTETOC REOFIf TATS il BF3CFI TORT QEIR BEO OT°T
E¥ER WACN WATIVRE BCZ T ERT, AT SUMNSH°OET Azduf THels Jin kN WFL3
RAWT | REFRS BCM CHE EFEH BRINT |

IR WCSF ST Ao Wy ffFaiee wfsmsn wgar omoyw ug |

Y12 AT & GATAer T YA RoW 23RS f5ieE, 2 TG vy B
LTI ©1e wo W1 fH@s 8231 (aTFIEnT (NS(Y | FAISTIA WM (NFSNY HfGE
NN TIFEN 2w IR (O SN WA/ N ST, TSl (NF9w =T/
| SCATEAT RO 2QeTEI=e SN SIATE AT (G1eTN NS YF=SIf | 7
G2 Q2T WNEH FTRCA | IA-ASHAT (RIS YfHN | 71 83731 TAAIHAT WETe
82T VoY 2RO AT CNMRGN 81 2AICOAN AT AR ATSIY | T/
A WNE SBH AN | VIW WA 3790 A0S - AR NI ZTTIIY 83 [NCHAT
WIS W= W ON=(F | WS T 8371 (732 | WSsin [teamm wfS =rmamf~ |
w21 821 Nee-Ttw Wy WANIN NEHST FTASH] 2 | WA GIa SEHACEHT

ST S WANT Qg SN CAIGNFT FISIT FISHAT WHT AT (SHIFIWT 2101
AfGeTAT AN WEEST Y | W= W= T e3qmunifaar AfSon sr=r=ar W
SE | (GICE FEMT F1 Hlow FI8IRS OHIN FAST SG1 WA FqA1, (XfGE
ITHEATCPI ATGETAT S2(FT GIem W4T ONAT 5814 | TS FTH V2N SISINS
oY |

Question:

FomEFOET gzdul THe TS RERSNT:

e O FroETAT 83fFa el —

e mmeERCT

dmmer i

BT |

RIS mses |

feBrsmenfw |
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Section:

MANIPURI

Item No:

10

Question ID:

3958110

Question Type:

MCQ

Passage:

RE°l BRI TOf RET RET FRs MI@TZOfD TOfFNT TRES IRERF RIC |

EURETIITOT ($8¥%— $98%) URIST RRER COM MM REAOINT TR
BPR3 RWACT — AfCHROTRS T ST WETCIIR RysHas, TOF- T, dammr
CRIIZ WHAT KMREC ATC ICCAHS WATIFEIC H;ﬁm FZWf AT
TRl HTEMRT BTN S50 ENECIIT® TRERR Bull  Reefelm
WRCISIT  (39e2- $€28) WAUEI NOIOENES EXNT TNRA CORC  F'5
ROFZDOMORN EURECIITOU THCHFS REFOMD Tx XARM ABC Sl
RRNREDTY el TAFSOMmT 3fRe »wf THRT RATT A58 REFOMD
RISAINT RRIR 39C° ABT ABCATEN THNT BWOROR THRT SMMRTH  Tfzfe-
WHRTCE MECKDT CINACRHT I

BMUBET RITYSE THRAT OFRCR BT MIEON RAPE BARMINS OBIHIH
RET RO 2T RETR( I ROMf ReFaf MPRET RMTKE3 WC- TRI, RS
TCHTROTMIRIN ATTATER USNT 3T L8F W3 U WERT CIISICT B35 KD
MOCTWHRIVCT | ROMRMT IMVRC TRRT FWETCIT ORZR K T°53 REF Tk
BCE ANl Il ¥0T ¥Mes AOFofmnt MRE TERT SOfIT ORER T O°FS
OMEIR R T°H3 OPT T30 IMMRTT ATOF BRR OFCICTOTIRAN  OIRRS
Nk &C REOICHTE WESTNRT Il O RIS, 3TNRET TEASTORM- R
mn“umvr CCRWUS AHUEH MXR'E KD Th T HaTyf |

MRS oS WIS 15T Wy (HfRfee Sifsmdn sga *méyw vg |

(FIAAFTHIHAT (5849—5¢89) TNEHT AT (TN SLw J=®1ewT
AL (FTHAT IUEW — IS E UefF opuFeon wouw, wew-wd, =5
Afbea wrwiy s T Yo BiRE wErE R avE [Gerie FefRo
AT (RN (1o s@resm oify | (e 51 afffemn (sews — ywusz)
=3 GREFfE oA SfST (@A (ST Flerasfendn rofEes=r 25
IrENiee o B zrEen ey | ﬂﬁw (ofeifereq sreafewr {em SifY sy

NRIFT ZTHAT IAFEATe AN TNEAT ANH TV TAGEAIO] AGAT (SR LAGAT
e fafom-carefomar omwe @o=Eaiy |

a1 Me2ar s s 3f2e Hiafs 28raey saree @
*OTRT WIHT eI AFE GAISY | WM NIN% f[Fear==n 8233 w=1-wgs, ST
(NSRRI TFTZAIO! No AT JIF (NI T YA WA NG (S qros
NMeAFARNN | TN TS W% (BIFENGA TG TF3231 TFA WA FAQ
Y| (SIS (SIS TN W WA AT 5 ST A CTANR-S57S ]
TSR *FE 1R ey T sum1 ASEgs ol o o1y Y1z L sl
Emy | N WS, ST SEH T — S TGO SN NTETFAT (IS NI
STHIAT WO ST 8335(Y |

Question:

EPRECIITe AB30f RAT B3 IREOT R e 2

N Ews =235 52 T3 Afsite=rsT 2
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a2

Section:

MANIPURI

Item No:

11

Question ID:

3958111

Question Type:

MCQ

Passage:

RE°l Rl TOf RET MM Frs MIATZOD TOFFMT TRES IRERF 7IC |

EURETIIMIOT (S2%%- $92%) URIT WRBR CAM W¥ PEAOIMT TR
B*H3 RNICT — AfCHRRO TRl ST WS TCIIN RyFs, TOF- T, demmr
CXIIE WHHT WIRAC ACT ICCAWE WMATHIEC EREA M RAICE
RO THEr S Ry J50 EWATIIUe TREER Bufl  Rafehr
WRCISlT  (see2- $€28) WAUMI NOIOE MBI EXNU TRRA RCORC N5
ROFZIOMIRN ERECIITOU IHRCHS REFOMD Tx XARM ABC 4Rl
RRMREDTY N°Cclis WAFSOMmT 3fRe »5wf TESRT RATT AKS  REFOMD
RISEI REROR 39C° ABT ABCATET TN HOROR THRT SIUBERt  Hfefe-
NHRTTE MECKDT CMACHT I

FMNBET RITHE THRAT ORCR BHIY MIBON RAPTNE BARMINS OBSHTH
RET ROF T FETRT I ROV Reraf MPRCC RIMIH33 MC- TRF, WRS
MHTHEOIIRN ATTATER THNC T LOF WR I WEa CIITfCT L —
RUCTWERCT | KOfFM 3MEST TR RO ORCR ke T°5% KEF THK
BTE AW 1 Wde BTy Aterofnnt T TRE! TOMNT OuEs T ORI
OMIE T T°HE M T30 INNRTE AfOF BRE OfZCICTATREN  OIRBE
ViR T REOICACS MECTRT | KONV RIS, STRCT TTI3TORM- WKbCf
BRFHN CCHWTE AHUER TR Ryl Th BTyl |

IR NCSF ST A5 Wy ffEafee s wigar oy ug |

FINNESAT (5829—5¢89) FNSHT THIW CFTI5N WS J=®1eAT
F N (FTHAT ITUA — VEAAR S (AT *AFEon Towq, WET-=d, =i
Ao wrufy AR T\ Ao BRI I e Tt fGemie fFefaht
NHFO] (AR (1A EEs Sarewm ©ifY | (fEfas 51 afafa=n (sews — swusz)
TEE GREE o SSTm (EeaT ST Fletefensh o eers= axa
FrEure o 5 e ©efY | ISR (ofefaey weEtear [em (Sify wrwfy
WEIF] 2RI IIENe AFNN TNEAT ANH THA TGRS @A (FSTHEHT LA
RE=on fAfem-caefomar omws @9 =iy |

e Te2ar s surom 2 Fiefs 28wy Sarwoe @
*STHIWT TTET 12T AIF GIFSY | WM Tgu e e2eq s -wgs, waEn
CNETTRFIHN TZZAIOT NG JIF (AIN FF YA WHH NG (SR qCoe
NLFAFNT | AN ST W% (BIHTEGA TNGHT NE823] TFA WA FAE!
XY (BT (SIEHAT TN W WA EAFEAT TS S STH CTHI -SR]
NH ST *E (795 [Fw=g DA T AGEaEo o e O YNIe YA GIeFERA
EEEY | WO WIS, (TN WH YT — WO ATTON NN N (S NIAT
SCHIT WO N S237H(Y |

Question:

EMATTIMTOU BeRFE STl MG TEHFETe |

FfNEESw FaT f2efd dpneaaes ?

AP meeRelr SMCeT L TETSHS |
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g fAefd srFeas |

o eRefr SITel L TSTTHS
B:
fGetihs fRefd s s |
AfefRP el SFTef TROD MOTRaefIr SfT el METCTTHS |
C.
IR S 18fd wNee fGemihes f[Ued paFwsaws |
ST eT WA TME TR AFATHTF® I
D:
fAefd WIS AFN SRR |
Section: MANIPURI
Item No: 12
Question ID: 3958112
Question Type: || MCQ

Passage:

RE“l FelF TOf RET RET Frs MIeTZOfD TOrERT TRES IRERF 72 |

ERETIITOT (S2%%- $92%) URFHT RRAA CAM W MEAOIMT  TRISK
BHE RAIACT — ﬂremm:mm M LTI RYES, WAF- TL, damnf
CRIIZ WHAT KMREC ATC ICCAHE WATIIEIC I?Eﬁ]iﬁ FZWf ANASE
TRl HTEMR BRI 350 EURECIITO TREFRR Bufl  Refelm
MRCISlT  (See2- $€28) WAUEI NWCIOE MM EXNT THRE RCOHRC  F¥'5
RO DOMORN BEURECIITOU TIHCHES REFOMD TH XARM ABC Sl
RRMRETY T°C°cli3 TAFSOMmT 3fRe »5wf TERT RATT AKS REFOMD
RISEM RRIR 33C° ABT ABCATIN UHNT WOROR THRT SMBCnf  wfefe-
NHRICE MFCKDT CIATKRS |

BMUBEC RITYSE THRAT ORCR BHMY MIBON RAPT BARMIANS OBIHTH
RAFT ROF T RETR( I ROMf ReFxaf MMRET RMTK33 WC- TRI, RS
TCHCROTMIRN ATTATER THNT 3T L&F W3 U WERf CIISICT B35 KD
MOSTHRIVICT I| ROTRMT IMPRC TRRT FWETCIT ORCR R T°53 REF Tk
BT A0l Il ¥l ¥Ies AfeFofmnt MRE TRl SOflit RS T ORI
OMERR R TH3 OFT @30 IMVRTT ATOF BRR OFCICTeTRAN  OIRRS
WRI T REOMTATE MRCTN! | RO RS, 3MPRTT TTIsfORe- WRLC!
mn‘umvr CTHWTS A%CER TR '3 F3D T W RS |

AAS W0 W 5N Wy (el SifmsT span Jmoyw wg |

(FIANSETA (983'9—-9¢89) TSN THFAT 15T SO =T
N (FTHAT AU — AR S (FefF “MAFFN Toww, HGN-Sdt, w=ion
Afeean wxfy T w7 oA AfRF TR R e fGemthe fhefEm
AT (e (1ot s@aresm oify | (e o1 afffemn (sews — ywusz)
T3 BRI o SST FeqAT (ST Fletaeewdh EofEes=T 2
ATFENTE S 5 ZTE=T B | ﬂﬁw (ifafereg wgaMew [e Sy sy
W] QT AEAME NI TNEAT ANE A TTCEAIO! NG (S TEAT YA

e fafom-carefewar omwes o=y |

e a2 wwin urom 2 Hiefs 2Eey saroe @9
*OTRAT WIHT AT AE GAISY | WM NIN [ 823 w=-wgs, Saar
(NS HN TZZAIOT Wa A1 IIF (AIN T LA SN AT (51 Wroe
NAFAM | RN [ NN (BIFENGA ANGW NF 82 TFA WA FA0
XY (SIS (SIS I N W WA AR o ST A GTANR-S57S 7
THSEA *FE R ey T a1 MSEgs il o o1y Y1z L1 sl
EH(Y | WP WUS, A S — SO AeO ST NITEIFAT (SN

WG] WO SN 37 (Y |
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| meafafm® mRafal ARSmi-

Question:
corferters o1 aferfer =raaf -
$9G0 — $G38 RS AN I
A
YEWOo-Y Y82 FIRFT (T |
99e3 — 928 B¥ OOERS I
B:
YE W8-S Y82 FI&TT (FTI |
09€3 — 9€8.3 EEE COERT Il
C:
YE W8-S Y08 FISFT (AJ |
992¢ — S€03 BEE COHRT I
D:
YEB8Y-3Y28 FISIT (A |
Section: MANIPURI
Item No: 13
Question ID: 3958113
Question Type: || MCQ

Passage:

Rl RR°I TOT RET RPN ks RIQTIOMD TOFRIRT TRES MERF 7IE |

EURECIITOT ($8%%— $98%) URMT RRER CAM WY REAOINT TR
B*H3 RUACE — ACIROTHANT Sl WETCIR FRWFs, TAF- TL, dekmnf
SRIIZ WhaAT KRIRAT ATT LCUAHS WETEIEIT H;ﬁ)sﬁ ZZWf AT
IO Tl SN RRPTY J85T ERECIITe TREFR Swll  mafehr
MRCfefT (s9e2- $€28) RANMI N ClOE MMl W¥NT THRE RORC W3
RO OIOIOIRN ERECIITOT THCHFS REFOID TR XARM AKC  S+4uf |
ERNRETY WC°ciI’s WOR3Oime 3TRe w5wf TERT RATT A% REFOMD
RISEI RROR 39C° ABT ABRCATET THRT HOROR THRT sMSenf  Hfefe-
WHRICE MACKD CMATRT I

BMNBRET RITHE THRAT ORCH KoY MIEON RAPTE BERMINS OBSHIR
Q[T ROF T ROTRI I ROMMT ReFsf 3MPRCT RMK33 T0- TRT, RS
THTHEOIIRN, ATTATER TSNC TFT LEF W5 $C WHaT efmsfee Ju"xﬁ L
ROCIWFETCS | ROPRPT SIVSE Thal FBOECT ORCR e K3 REF T
T3 AWl e OTs AIerofmnt PET TRaT SoflT omEs Th O TR
OMRR R T°HF OFT TE30 IMRTE AeF BRR OfZICTemmaEmt  OiRRs
Nl U REOITHES WECTNT | FONT RII, STVRET TTa3TORM- WREZIr
gﬁ‘uﬁw CTRWTS AHUFR RS Ryl TH T HETRS |

I NCoE W NI Wort HfFafee sfsmon sga omoyw ug |

(FINNEHAT (5829—5¢8'9) FNSHT TWHW CFTIN WS JI=®1eAT
N (FTHAT AU — AR S (e “MAFFN Toww, TEN-Set, F=ion
Afosar ety T = aremaa 2= wIrm e aruE= fGerifhe Fef@5n
WA (FRAAT (PN NES SRIeIm1 Oy | (S8 51 afAfE= (syews — yv8z)
T=fE R F oo wfoam @eqmT ST Fletaefienh o= 25T
FreENte Wy B = 8sfY | IS oarfefeeg wgatieaT f[erm Sify wifn
W] TR IFEARIE NENN TNEAT T AN TTGRAIS] NG AT (S TGHT AT
Rea=on *fom-caefowar dmaE @9 =AY |
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a1 Va2 s Furem 2 i 20wy SIrwoeT @
*ETHIWT T 12T AIF GIISY | W1 IFum [Feamen e23g W= -SwF, 9=
(TR TFTZAIO! NS AT YIF (IN T YA N A fIG= (SHan roe
NFAFOMAN | NN [T SN% (CIFEN G TG NF 83 TFA Sq FAT
Y1 @IS SIS DI M T WA G TS BT W TN - O
THSEA *EE (1177 WY TN AW MCHRIFON o O Y1e LA B8 aza
EHTY | WO NS, [T ST — ST SN NS (TEFIAT
SO WO AT 8370 |

WegfafT® PREfeft ERATIITMT THCHES REFOID BORT XARM S4RI3me 2

Question:
(S8 51 afFAfeT=T (oS UNeTH IFEAH ST G BRI 2
RAIET F°ETOENET R¥ DT TR ReU5T W3 Roszemofmsns |
A:
W=IfE OfFAfE o SfSam (@eq=T (S1a1 srerasfewan |
AferoeselT SfTef MEOfTRT |
B:
ferathe fAefd om=fmEr |
cfrereyefr Fheet Meoresnw |
C:
foemi s fAefd o=t |
ehereRellr ThE! AEfRP0TRalT SfTef MEOfTHT
D
fGemifie i Sfeaitae Fef@ om=fmm |
Section: MANIPURI
Item No: 14
Question ID: 3958114
Question Type: || MCQ

Passage:

Rl RR°l TOT RET MM ks RIQTZOMD TOFRIMT TRES MERF %IE |

ERETIILOT (S2%%— $92%) URFHT RREA CAM WY MEAOIMT  TRISK
BPH3 RUACE — ACIROTHANT Sl WS TCIR kW, TAF- TL, dammnf
CRIIZ Whal KRIRET ATT ICUAHES JI{H'I’J;I‘ETII mﬁm ZZWf AT
IO T SN RS 8T EReCIITe TREFR Bwll  mafehr
mRefefT (seee- $€28) RANMI N TIOE MBI WYNT THRT RODRC W3
ROZOOMOIRN ERECIITOT THCHS REFOMD TR XARM ABC S+l
ERNRETY °C°cMIs WOR3Ofme 3TRe w5wf TESRT RATT AK8 REFOMD
RISEI RROR 39C° ABT ABRCATET TR HOROR THRT SMSEnt  Hfefe-
WHRITE MECKT CIMACHS i

BMNBRET RITHE THRAT ORCH KoY MIFON RAPTE BARTEAOS OBSHIR
REC ROF T RETRT I KON Reraf MPRCC RMTK33 We- TRT, WRS
THTHEOIIRN ATTATER THNC G LEF WR I WEa! CIOSFCT B30 Ryl
MOTIRRIVICT Il ORIV FTVRC TR B RCTCIC ORCR ke T°K3 REF Tk
BE3 7Nl Il Wl ¥Aes Aferofint MRE Traf oMt OuRS T O°Fs
OMIRR R T°HS OPT TE30 SMRTE AeF BRR OfZICTemmamt OIRRs
ViR T REOICATE MFCTNS | ROV RS0, STRCT TCasTORO- WKLCTf
BRFRN CCHWTE AHUEH TR F3s’l Th WHaTyf I

NI WO W NI Woyrr Hf3afee wsfsmon sgar ooy ug |
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(FAAETHAT (H8Q9-3¢89) FNSHT WATTAT 1IN TS = re=T

L9 (FTHAT ITAEW — AR S (AT 2MAFFon Touw, HET-Sd, =it
Af6eq SN NWET T AOHITT LI TIEW 10 aUEw fGemthe fFefah
WA (A1 (1o S@aresm o1y | (e o1 afffa=n (sews — ywusz)
T=fE R F oo wfoam @eqmT S sretaefiensh @t 5T
TN S 5 zrEm ©efY | Wit ofafesy weEfewT [em Sify -y
WIS 2T ITEA*IE AN TEAT A IV TAGRAIO! NS AT (S TNERT TAGAT
Rea=on Rfom-caefowar omTE @ ==Y |

fIear= a2 wrwin swremr 2fe Fief 20y I &7
SOTRT WIHT A2 AFE GAISY | WM NIN ([T 823 S=H1-Sgs, ST
CNETRFHN TTZAIST NG~ YIF (AN T YN WA ArefAomn (Siam qree
NSFFOMNN | W7o fIears wrwf% (GrSenfomT STNem #8331 THN SN 1
Y1 (@IE (DG I N T WA AT TS ST WW TR -FNE T
THSEIT *ES (FNAIY WY TN T MGHRISON o O Y1e LA B8 az=ar
EHHTY | WO WS, [T ST — SO ATGOT SN Nl (NI
STHIAT WO ST 837H(Y |

WeEfEl s Fefcds WO FRIEMe 2
Question:
(I8 NTAYSHT F[IF (SILITT 2
RABT AK3 MATKRT XARES ART ST R3TRT I
A
NRIE] ZTHAT OFAS G XA THNA] WA |
HORFOS THRT ITMRENT FFEfE-RHRITS MFTHRE S MAERT |
B:
CFEHTEA YA [N G- U1s fowa1 9mTF @@=y |
EEOF W'5T AHuf I
C:
I (S =efy |
RES MACRDT MTRIRC RVl TFZTCE R R$SACRT
D
AT AENE (ST WO LG 1 5=y |
Section: MANIPURI
Item No: 15
Question ID: 3958115
Question Type: || MCQ

RE°l RR°l TOF RET MM Fns RIQTIOMD TOFRPT TRES MERF 72 |

EURETIIMIOT (S2%%- $92%) URIT WRBR CAM W¥ REAOIMT TR
B*R3 RNICT — AfCHRRO TR STl WS TCIIN RyEs, TOF- T, demmr
CRIIZ WhaAT KRMREC ATC ICCARS WATLIE(C I?Eﬁ}.iﬁ dEMf RAnACE
IO TR SIS, BRIy 35T EWECIITe TREER MWl Nafarm
MRCfSlT  (seee- $€28) WAUMI NOIOEMEI ENDT TNRA RCORC  F'5
ROZWOMDRN EURECIITOU IHRCHS REFOMD Tx XAKRM ABC  S4nfl
RRMREDTY N°Celis WAFSOMmT 3fRe »5wf TERT RATT AKS REFOMD
RISEI RROR 39C° ABT ABCATET TR BOROR THRT SIUSERt  Hfefe-
NHRTTE MACKDT CMACHT I

SMUBET RIMTH3 THAT ORCR KIS MIBON RAPTNN FBARMINS OBSHIH
RAT ROF T R@TNT I ROMf RoFsaf 3MPREC KMH33 TC- TRI, RS
THTHOTMIFRN ATTATER THWT 3T LOF WR EC AT CIISICT ¥3a D
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Passage:

| MUSTWFEICS | ROPRI STRRE THRAT B BT ORCR ke 158 KEF T |

BE3 AW I ¥l FATs AIeFofmn MRE TRl SOfiT OIRS T ORIV
OMERR R T°HS OFT TE30 SMRTE AeF BRR OFZICTemmamt OIRRs
Vil $U REOICATE MFCTR] | ROMV RS0, 3MVRET TEasTORM- TKbemf
BRFRIV CCIITE A%UER RS Kyl T WHaTyr |

AR WSS | 790 W fHiFafe =i wgar omeyw ¥ |

(FINNFTSHAAT (989—2¢89) FNSHT WWHA (FTA5T SIS A=y
F NS (FTEAT ITACATN — EAAR S (ASF *AFFN Touq, WET-=d, =
S SN AT =T =TT ofI= WIEw 0N A fGemhe fFefam
ST (FRA1 (@A Een sEresm oy | (fEfEs o afffE=n (sews — ywsx)
T=fE R fE oo Sfoam meqaT (ST Fletaefiendht oSt 25
areEure o 5 e ©efY | IS (ofafaey weEMear [ (Sify s
N1 XA ITPAHIE RN TNEAT ANH TN TAGRAIO] NSl (SE TG TTAT
Rea=an f2fom-caefomar dmas @o=iY |

e Te3qr s sTwrom 22w Fiaf 28y s &3
ST TR 12T AF IS | WM TFu [eemn Ne2g S 1-S0wF, S
(ST TZZAIOT NS AT (TN TF LA SN ArefAG= (Saq Wroe
NFTF NN | WO fIeaTs SN (CIFEGm ARG NEe231 WFN SN ]
Y| (D18 (DTG TN W &N ERIH] TS ST ST (TN -S57S ¥R
THSEA *FE NI A=Y XqW T MGHAIFHON o O Y12 YA GlaF=z=a
Sl | WO WS, RS ST — SO FCAHON NTHHA CISAIAT
CHIAT WO AT S37H(Y |

HORE RBEN ERh STVRTU RRT RI3 I 572aTyf 3me |

Question:
T3 oUW FHIEAT TSR TN J18 AF  GHISAIC ?
BATTMINT OBZHIH THoeTEHS |

A:
SRV &7 *STRH HCAISAT |
RACTRIOE OBBHEIT 2™ |

B:
SN &1 ST 21 |
RORIRIOE ORFHIT ThoeTES I
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Rff 5 YOS X 48 OTH°TIR BT | SX°F R Xese XTI Z°0C A5 |

reEHEMf IHFTNT BERCT Oxitec T Wemfm wezimwimf In  cfewfr
»ezfefRefurf RReIT TREUS Zfe AMRIERT BU knd TOf BTHL®T WUB USRS
MIE° | TACEH ISCIIH REC RO5D MOTTRS | REst BRCC Ko, Ra°mf5: Whal  lavss
RO%°TD ¥wee il ACHr TrReefEs RORD W30 kb RIS A5T EUReTeS I Oxitec T
WIeTZf BO REFTT I R T°HT 38 THMES ROF RICW BWACHT XM ¥R BR RRH
ANORCT Il et KO REF MPY T L03 RBFR L€ BO &3 TICrB I REFOTDR  XEks
XAk 8% TE3Rl T4%° 1 X& 0.8 WAIMT ROX TRF RE5I THI kAR X3 wefmf
R OFRIST 3KC mexTesrt @fre dn° 5T Oxitec T E*DRTES I Oxitec Bf RORD
mwof IgzfIR 8098 K IKTIT JROE IR A%l i

AR Mo W AN Wy i3 sifsmon sgan omeyw wg |

AT X2AT YSHIAT SFHA AT CNETHISH WA FIHAT (11, WIS, NOAGAT
TGN WHIN CHAT 9N TN &A1, WJT (NI (S F1E WY &H Jf™(~| (=
NIRITIFHN, BRI FH BIF I BLASAFN ATHAT YN (YT WG SI% SI9] FHNGA
BIEw | Ay Ao S 2[H F18 e SISO SR W - o rEa (Ref,
foenasfam, o s e $a=bsT Sreen N ST A5 =" o=l |
FTEITE ST THTE SeH LA, W 16 =51 (67 Wueg st 3 w3
NEHAWIST 6T STFN, WA VAN (FIFEON SFAT YA WANS WY ZTNIN 7N (S |
A AfGeifS =3fFa 18 e Sy stae 2 w91 8 T8 S5 | AW SNy 58T
C=f3r | WAy BifSieST (s T (FTIAR! 53 SN 18T R R & S
AT (ZF RIS FIENT SAF =7 (AFFY & |

A1 AfGTS SIS YR TR W% WA FI_ TN WHER 6 | ST, 7
SRR WS 5 55T W61 AR SIS FIEI | BI6F Y YT00] 51 (AT 212 |

ZeeT15] A2STOF AN Oxitec 1 A1 GHSTS wramn 2xfaivatzes
WO N WYHAT G IO~ F18 W4T SH FACHET (ST (= NIWT W NS |
SR JITGETT STEAT BISTHe SIS Y | WYSHT (FCAN 51%;, WA SRl ©Igal
eTHe (OITY | THE WINKSAI BISTHE (S0 WTH ANMFCE AN (RIS | Oxitec
=T FIIT 18 WHAW | T S2AT TR S2IMIAT WA WHI FeIHAT (6191 B9 W61 WGTHI
=~ | W BifSe e g SR ATHAT ASART F1S TN STEFH | NANHLY BTNAT Yoo
T 8R! (S | 517 0.2 BHIY BleW SININ W82 | SHY NCATI] STHET W19 WK
PifeR= ara= SeEFEatS (9% (A0S =1 Oxitec W1 CFISTAIEE | Oxitec & 515TH
WS FGE 205 W fEw omeranEer Y |

CeFTe WoTIRBINT RAFOTDR KOOI T°ITAT BE Jo3HT:

Question:
st afgefsfsy Tasfsiey 5ifse (Fewm T tF1g3n! -
R7AF Wh B3 A(0T 35 MR I
A:
52 oI $187 f2ewT (F71 & |
R7F Wef B3 #(IT 38 M |
B:
5% Wi $187 fRe71 (111 & |
R7AT WAR EES A(0T 38 MEF |
L
5% WZW $18T R (o1 & |
R7F Rl B3 #(0T 35 MFRT |
D:

&= 33 mrag Sewn tarar & |

T—
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Section:

MANIPURI

Item No:

22

Question ID:

3958122

Question Type:

MCQ

Passage:

RElD Ryl TOF RET RE™ ks WIeTIOfD Tofarf TRES RERF %32 |

TeFHfe ARC NCE FQF SU3 RUO'DR ROD BAT 3%, R3T, 05 TA'3M THEM
FC IS FdS SF, e W 35 B Fw WO OFETr I ﬂ“m')ix:l;‘“g‘m'w XAt W RE
IR ECTReS 3F5T %R L°03E THRIVF BN BN TINT RFIRCT I THRFO  WOTTIRS
AKeTE BI RRI TOMMT TRFT TER- anAME K0 ﬁ“‘l}m'f XfEerers, ofd Thal R°e°
EfZ@URIIE OTHRTNC K Esmf mmrx TRE BAICT éjsdtofm TOff AfRTr OURCT
MITE°, THE BI AKE TTE TN T sr EFEH NACTR RAFRMT RX TICrR, TR ROF
BTR AFET & ROTD RFN$ACER CC DT | T TZIRN AKeTE BO Fwd umfm
X33 & T 2 EEE JREOF | 3ZTNT WHRORT RF8 7°3al | ROFR BOfON IT°OTRC i
Sognt XA Tk B8 AMOT 35 MEwT I THRC CIOTHE 7°0 ST BOT TR 7EU
L°'IIR AT I

Iexf WoCHRNT TWOP Xe OF ThE! RFT OF SF TRRSH I O, OT  THl
RIf 5 XMEW fX d6° OTH TR BOSTF | EX°F R RE'FH XTI T°0C A% |

»eCE? IRMRT BWERCT Oxitec T WeRF® weim»imt 3sn  ofvnlm
»ezfefRefonf RBeIT TREUE ZfE AMRIERT BU knd TOf BTHL™Y WS 4R kS
MITE° | TATCEH ZLCIIn REC ROU5D MOSTRS | kEx BRCC B3, Ra°0fs: Whal  lavsss
RO%°D ¥wge )l ZENr TrReefEs ROR D W30 kb RIS A5T EUseTer Il Oxitec T
WFETZOf WO REFCP I e KT 38 THMES ROF NICW BWACHT RO K KR R
ANORCT Il et RO NSF WP THN LHE ERFR It ®@o 8% ICTS | mrrwfmﬁ R Feat
REF 3% TTERI T6R° Il RF 0.8 WESTT RO% TRR R TH3 Hﬁ RPT wefmf
RIS OFRFET 250 OTHTTsmf afro 3w° ARC Oxitec T E°IFTEr | Oxitec Bf RUR°D
wof ISCIIH 2098 F MITT MUTTIK A Rfl I

MRS WO W M5 Tym iRt sifsmsn sgan oméyw 4 |

A3 ZT2AT YeNT OFN AL (NSTAILH N1 AN (141, NIF, WCAISAT
GG WAIN CFAT WO W@ &A1, W1 (NI (S TS T WA 7N (=F
NRIATISHNI, 52 I 517 YT AP JAN ATHA YN (LTI WAGH ST ST TN QA
S | afms aferefs 2fE 18 e SIS0 STSrsT SEN-anacRi oy arEa oqefa,
foewafam, o st e $IIgabT Stee N1 ST A5 SE[_ o=l |
AT SHST ZRTE SN YNASE, W F16 WA G Tye St 5f%; wd@fam
NHARTST WGT SHE, WAFE NHN (BIEN ST LA ARG FNY;ZTNIN & (ATFO |
A eSS =3fFa 18 e S STEe 2 w91 8 T8I S | A=W SN 18T
=3 | Wy 5ifSie ST (e W N (FTIIR! bl SN B8 Rew1 terar & | =g
AT (ZF ENEIFOIN FIEGAT WS 7T (AFFN & |

AW ARG &IfST <=1 ST ST T SR AN WWER 6 | U, S
SRt ST 5 G2 o1 4131 S~ F1GI | 6T TYa YI0T I (VTN T2 |

BeeT 51 28OS T Oxitec W1 Ay JGovfofst armn 2xfei~wtas i
WO WYFA O TN F18 T4 WA FACHE (SINAT ;7AW W AN |
=TI JMGETAT GREAT SIeTHe ATETAHY | WYeH (AN 5Y;, NEAHT SR ©Iga]
THE (ONY | TN WNSEWI BI1eTHE (S1IN5] WTH NFE AN CFISAF | Oxitec
=T FIIT 18 AR | T 82T TR S2IMAT NFHN UH FLIFAT (691 B W61 WoTHI
DA | g HiSie TSI MG AR ATHAT NONHT F1G AT SHEH | VAWMLY BIAAT doo
1T 8FR! WS | 517 0.2 BH5 Ble meﬁnﬂmmmmﬁwﬁﬁﬁm

fSifea= arg=n Sty (3% (50 =91 Oxitec = CHISTRIFE | Oxitec fF 51T
WS FIGEW 205 W1 f9rF omeraraEsy iy |

Question:

IeslM WZHRNIT WEIFS RsER agnt:

A afeEifeT SrET TowmT ey -

We OF THsl RET K% RERS I

YT NG SN 9T 2eq WA |

=M MY mrsf T MY e i
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| el AN NEIILURT FLIT W WD TR U N

AT I WY TR F_T TFAT] |
e KF THAT BFT BS RERT |
C:
QT 231 WA WAT 2231 THA |
N OF Mee B8 RERH I
D:
YT IR YA 21 TEAA] |
Section: MANIPURI
Item No: 23
Question ID: 3958123
Question Type: || MCQ
RR® IRFETE RAMED O xxxx Wf REFS AMRICE 2% XU W75 RI |
YWRER Osaldim xxxx RE I
Question:
Wy foifEa at=ong: s x x x x & Touw Tofewar 391 o= 9tz 9F |
CuTATE #efteW x x x x T2
REPRU
A
BETHAT
MET
B:
EEN
ZARCIT
C:
o7
w1k o
D:
ST
Section: MANIPURI
Item No: 24
Question ID: 3958124
Question Type: || MCQ
RN JRFETE RAMPW WOTS xxxx WF REFR AMRITE N8 RCF X7 W
Wars xxxx EsECT
Question:

Ty {31 IENEe W x x x x [ T I9fowa TR vIREr Its 9 |
FEA X X X X PRI

BCH

o=

T—
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[
REUES
B:
255
Wi
C:
]
EC°T
D
FAS
Section: MANIPURI
Item No: 25
Question 1D: 3958125
Question Type: || MCQ
RN IRFEE RAM@W WOTS xxxx WF REFR AMRITE N8 RUF X7 R
WO K43 xxxx XHaT |
Question:
Ty {1 IENEe W x x x x & T Iofowa 191 51Rar s 9 |
4TS (BT x x x x (HI&fe |
VALY,
A
LTSS
Rie
B:
g
BT
L
FF
Wk
D
48
Section: MANIPURI
[tem No: 26
Question ID: 3958126
Question Type: || MCQ
RN JRFETE RAMEW TOFS xxxx W REFR AMRITE 2% RUE R4 R
ILTAI°T WHUF MFFRET xxxx BB I
Question:

e

T—
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YT {HE1 IR | x x x x [ THw 9w 9191 vIar It 9F |
fATew OI2war $WH x x X X S|
CoOf R mH
A:
FITCYTe
Col: Rl 1
B:
[Gris iRl
. (W) B R l1 £
(.
ST A
REHOW M5
D:
ENECYISHI
Section: MANIPURI
Item No: 27
Question ID: 3958127
Question Type: || MCQ
RSt RFETE RAME W TOTR xxxx W REFR AMKIEE ¥ RUF N7 W
e xxxx EONIBT THE 535 I
Question:
Wy AR IR W x x x x [ TFaw IAfowa1 T_1 5TwET 9E 9 |
0 X X X X QAT LT WX |
RBT
A:
FIET
G~
B:
GeAT
EfC
G
e
ror- 11U
D:
[GEIET
Section: MANIPURI
Item No: 28
Question ID: 3958128
Question Type: || MCQ

o=

T—
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| FR® IS RAMED WOFS xxxx B REFSR AMRITE RN8 RCF XA W3

e eRalalls xxxx 5
Question:
Wy o Itz | x x x x 6 oW Tofewar 391 vwar ats 9g |
(/T OTNIEC ST x x X X (12 |
e
A:
(PIs
e’
B:
Sl
Rham
C:
RVET|E
W&o
D:
(e
Section: MANIPURI
Item No: 29
Question ID: 3958129
Question Type: || MCQ
R IRFEE RAMPW WOFSR xxxx Wf REFR AMRITE 18 RUF XA W
TAC RBEE MF xxxx TICT Il
Question:
Wy fHfEa atEonas s x x x x & T ofowar T swa s 9F |
=T W39 € x x x x A5 |
MCIT
A
EHIEA]
TOF3ET
B:
WS
EQIIRT
C:
FIEAA]
e
D:
R\
Section: MANIPURI

o=

T—
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'| Item No: 130
Question ID: 3958130
Question Type: || MCQ
TR B’ AKE RAOIN RETS RA RIC I
Question:
‘NN GIAT° ZTHAT JICR9T NHAT A2 9 |
BTUS EF |
A
PIRA 277 |
FOR% #°TE X3 i
B:
AT (XF9N G141 |
FORa® RXE |
C:
NI G141 |
RAT RO BRE I
D
TN N1 P20 |
Section: MANIPURI
[tem No: 31
Question ID: 3958131
Question Type: || MCQ
Tl BEHT MBS AKT RAOTN RETF 17 RIC
Question:
‘N W= M2 ZT/AT IS NHAT ICZ ¥ |
R BEHRT MBOFISTIR I
A
ST TR~ AR =47 |
Rl T Il
B:
e F=T |
Fef# FO°l el S I I
L
e W [T B
Fef 6 WETCOSHE 52°M% I
D
e FOSINCY (FeAT |

o=

T—
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Section: MANIPURI
[tem No: 32
Question ID: 3958132
Question Type: || MCQ
T°F WCF AKE RAOIN TTC BrE RA R
Question:
‘CATH (/W1 ZTRRT FICR990 SHT (O~T FT ¥ |
RET T°RE
A
HIHA] (AHTHAT |
R OWF I
B:
BIG #MsT |
»Tmw 32mms i
C:
fome wroea |
OCHEF URAES |
D:
TN Al |
Section: MANIPURI
[tem No: 33
Question ID: || 3958133
Question Type: || MCQ
‘BICM XFWF" AKF RAOIN TET BCF R7A Xl
Question:
‘TTregY foear =rwan LSO 8F1 (oW AE U |
FRET XTO3 I
A
T 52T |
crRfm W
B:
o °Ea= |
WAIFE TN I
C:
SGTAT THNT |
WHRE TF
D:

o=

T—
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H CUTITAT T |

Section: MANIPURI
[tem No: 34
Question ID: || 3958134
Question Type: || MCQ
THET RN AHKTE AKE RAON RECF N7 XTI
Question:
‘TR WL SIENIT ZTHAT ORI WIFAT A= U |
SRe°Tt RBOF AT BETS |
A:
AREAON NQLHT &1 2747 |
BT EVEE AT R0 KBTS |
B:
PRI FLCUAA NN TP 2737 |
L3 FCWIE FRef el R I
C:
I (G1eI SN WA WAt 58T |
el RO BRHRT XA I
D:
WY TANG ST 54T |
Section: MANIPURI
[tem No: 35
Question ID: 3958135
Question Type: || MCQ
TRl & ATT ¥3° AK8 RAOIM RETS XA RIC|
Question:
‘NS AT ZTHT BT ZTTHAT IICRIIN NIHIAT AT U |
Ukl "0 AT REF I
A:
+f3e (Ao T THA |
17 ATE |
B:
AR &= |
AULE |
C:
2A4T |
XAl #AEE |

o=

T—
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5= =41 |
Section: MANIPURI
Item No: 36
Question ID: 3958136
Question Type: || MCQ
TR TF X8 AKE RAOMN TTC ¥r3 X7 RIRE|
Question:
‘(TN CGTN BT ZTHAT FICR5T ST (ST INZ ¥ |
ofr OfrRe X3 |
A
< Mg v |
RAU ABC RF |
B:
IR =61 5141 |
Refosr X3 |
:
BINISHAT 5147 |
REX T°F T°F =3 |
D:
BIWT (BTN (5N ENedT |
Section: MANIPURI
Item No: 37
Question ID: || 3958137
Question Type: || MCQ
A. AHATY SCUF
B. U eEH3
C. FO®"I'cT
D. Estain
E. i
Choose the correct answer from the options given below:
Question:

. GrRzIEee OFdl
B 31l b

. CPISTHIRE

. (oIt
i

mONOWwpe

Choose the correct answer from the options given below:

R ABATY BCTF TN MTHE MR WST Bt |

o=

T—
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[T ErE=IEee ORI NN (AT CHISTIFE CRUICOAT |

AMFAT FCCF Kix UNF MTHE Watadls EOHTST |

B:
SIEzTewe BHIT AT WM (rHAT (FTAITCSHT CHISTHIFET |
Uf MTHE MHEATN FCUF Rix EUHTST W |
C:
Fe M (T EIETTFOe ORI N CHISTHIPT CRUMICEHT |
Hatdiz E'IRWST U JCTHE Ris ABATY SCUF i
D:
CEOCERT CHFISTAIFAT WA (/a1 w1 $r2=reos BF4T |
Section: MANIPURI
[tem No: 38
Question ID: 3958138
Question Type: || MCQ
A.TC
B. ¥'s tae
C. ¥efmsw»
D. mywEanfl
E. mIiF »fEes
Choose the correct answer from the options given below:
Question:
A. V&1
B. (SI_1 91tH
C. (S
D. Tounm
E. S fo=a
Choose the correct answer from the options given below:
WITE RwFss’ RRF W3 5 Wolmss v |
A
fowar oM TN (511 IR (SIS FEAT |
Wofms® wiRr »fes W% R5° kerast v
B:
cSifaszer T fS=ar ¢S Iy Towm® FEH |
RIS BITF RRFas’ CC olOss W5 Rucl
C:
T o= Towmn 981 (Sifveger ¢S 7w |
UC RINF BICF RRRaar ¥'3 5in° Bermse |
D:

KO« VAT o= Toun™ oE Iw coffveger |

collegedunia:

T—



Section: MANIPURI
Item No: 39
Question ID: || 3958139
Question Type: || MCQ
A. THAI-CREOTDMT
B. 7T
C. Xfeowss
D. Wit
E. mrc*masel
Choose the correct answer from the options given below:
Question:
A. SEE-ARAe N
B. THEAT
C. Bi=zeT
D. (FTviten
E. YNETERA
Choose the correct answer from the options given below:
T/A3I-CREOIINT RICTI Watdsn AT TFSRRSTS |
A:
WEEA- AN N SIS (FOICGHT THRE AT YNET2AIA |
RICTIR TAI-TREOIDNT AT Hatds RS RasTs |
B:
BINAST WEEA-TANL N THSAT (FMICGAT YNCETERIA |
Hatais AT TAI-CREOTDN RFTTIS MRS HRETT |
C:
CFOMTEHT THE N WZA- TN N SIS YRR |
MRS RRICT TAI-CREOTINT RICTIS Watdis AT |
D:
YATTERAN -T2 SIRNLST CFOAICGHT THEAT |
Section: MANIPURI
Item No: 40
Question ID: 3958140
Question Type: || MCQ
A. REt
B. C*FxC 387 TRFE
C. T3 RCRO
D. &%
E. RrWR3T
Choose the correct answer from the options given below:
Question:

o=

T—
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A, YN
B. (AT 7171 Y
C. 43S 2741

D. &%

E. gRUonaat

Choose the correct answer from the options given below:

T3 RERD PRI TREC 337 TRFE RRR3T @5 |

A:
AIF ENYIG FAON (ATAGAT (1T A TNCINEAT (Fi2 |
REWEST W5 PR T3T BTRD THRRC 57 TRFZ
B:
FACINEQA (B2 TAN IIF 2HYIG (AT 1t A |
T3 KERW TFAC 357 TNFE RRMT ZRTR3T @5 |
C:
AT NG (ATNAT (I AT TN TWCINEA (FI2 |
RENT TIT FERD TFRT S37 ORIE RRIVHET B I
D:
TAN YIF NG (ATNGAT (At A YRR A | (N2 |
Section: MANIPURI
Item No: 41
Question ID: 3958141
Question Type: || MCQ
A. BHl-FRCD
B. ZHZ AK3OF
C. =l TR
D. g-Cer
E. URfwossmwf
Choose the correct answer from the options given below:
Question:
A. E-Tg
B. ¥ TEIAI
C. Wt 7S
D. w11
E. Ff9rg@son
Choose the correct answer from the options given below:
THE AREO BRD-FKTD S-CTCT ' T43° TIRFRITSSIT i
A:
N1 TTHIM 2e-Teye 7-ATHT WA 0@ 4o |
3-CU HRI-RUD THE AKSOF R T4 TRFRIIT |
B:

o]- ST 3%e- W YN AT W WS AANLFoN |

HRD-RUD S-CCT TH3 AKS0 DRFRIMNT Rk T3 I
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Be-Nwe WA YN ITHIAOT FOrLFSoNn WA WS |

URFRISINT el T43° S-CCU HRD-KTD TH3 ABIOF I

D
FrFSN WA NS - FTHT 2qe-Wwe YN THIA( |
Section: MANIPURI
Item No: 42
Question ID: 3958142
Question Type: || MCQ
A. a3t Bater?
B. "H3U AKICT
C. w3t
D. ¥
E. drwfef
Choose the correct answer from the options given below:
Question:
A. =A< 3Ef|
B. 9&RI= =r¥Qiw
C. o«
D. (3t®
E. asstefs
Choose the correct answer from the options given below:
WHRIT AKIUT HAEST HATUT e WIT SWRITT i
A:
YERINT ZFA IS @i At i arsiaf= |
o)t W37 SURITT WR3T AKIUT Shaasl KA T |
B:
Nte o Aty wena It~ augas @y |
aHee3T HACTUT s W37 SUWRICT RRIT ABITT
B
TR 2 eSS areidfe eva =T+ |
SHEE3T BACCUT WR3T AKITT s WIT SWRICT
D
AT 2N 4SS~ T (e BfF sf |
Section: MANIPURI
Item No: 43
QuestionID: || 3958143
Question Type: || MCQ
A. ©X, T, I,
B. omemwrs
C. Xus°m ¥xs

T—
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Question:

D. kAfr RE3

E. 5 momsmf

Choose the correct answer from the options given below:

A. 3%, 913, f$,
B. *™$2

C. BIeTHe (SRl
D. N2 e
E. 5 19190

Choose the correct answer from the options given below:

% BORSIT ©WX, TS, 7f, MCH°TS RATT RS RO5C°D WS |

5 F1oomon I6, W12, fS, *=e2 NaIe ol 51etde (ST |

X, TR, 7, FATT B3 RU5C°D ¥as 5 BURRRT OTRTS |

2%, 12, fS, N2F W61 51T (SIHAT 5 FIANTIN *THIS2 |

RUR°D WH¥ TR, TF, 3, RATTF B3 K BIOKRLT OTHTS |

BT (omal 5, o123, fS, T2 et 5 S99 s |

RATT RE¥ WX, Tk, 3, RURCD ¥%3 B BRI OTT TS |

W2IE Tod 6, 12, fS, 1t (SMar 5 TN *THIF2 |

Section:

MANIPURI

Item No:

44

Question ID:

3958144

Question Type:

MCQ

Question:

Match List I with List II

LISTI LIST I
A. mtM cadn paNb hE I zanu HxgoZ

puZba kalndb

UceK II. hEroN

C tureL Ani tinnfy T MloZ

D. [Mbi Ani tiNnfM IV. IroZ

Choose the correct answer from the options given below:

Match List I with List II
LIST1 LIST 11
A. TON BRAT =41 (R [. O AHTS
B. %3 FHAH BHF [I. &EW
C. & 9l fogew [II. =N
D. @3 9l fogew IV. R@e

-

T—
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Choose the correct answer from the options given below:

(A)-(m) (B)-(1) (C)-(wv) (D)-(11)
A
(A)-(11) (B)-(1) (C)-(v) (D)-~(1)
(A)-(11) (B)-(1) (C)-(1v) (D)-(111)
B:
(A)-(11) (B)-(1) (C)-(1v) (D)-(111)
(A)-(1m) (B)-(iv) (C)-(n) (D)-(1)
C:
(A)-(m) (B)-(1v) (C)-(n) (D)-(1)
(A)-(1m) (B)-(11) (C)-(1) (D)-(1v)
D:
(A)-(11) (B)-(1) (C)-(1) (D)-(1v)
Section: MANIPURI
[tem No: 45
Question ID: 3958145
Question Type: || MCQ
Match List I with List II
LISTI LISTII
A. 2uo3e . do*wa
B. /g [I. ®woXfos 2
C. WxC [II. 70k WK 3
D. X»aE IV. Ik 2EC3 2
Choose the correct answer from the options given below:
Question:
Match List I with List IT
LISTI LIST II
A, TN [. CEE
B. 3 1. e fosaran
C. N3 1. =072 890 2
D. =&R IV. MGy A=a1 A
Choose the correct answer from the options given below:
(A)-(1) (B)-(iv) (C)-(1) (D)-(11)
A
(A)-(111) (B)-(1v) (C)-(1) (D)-(11)
(A)-(11) (B)-(1) (C)-(1v) (D)-(11)
B:

(A)-(m) (B)-(1)

(C)-(v) (D)-(u)

11111
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| (A)-(m) \D)-\1) (L)1) (L)-1v) ||

C:
(A)-(1m1) (B)-(u) (C)-()) (D)-(1v)
(A)-(11) (B)-(1) (C)-(v) (D)-(11)
D:
(A)-(n) (B)-(1) (C)-(v) (D)-(m)
Section: MANIPURI
Item No: 46
Question ID: 3958146
Question Type: || MCQ
Match List I with List II
LIST1I LIST II
A RETIRETUT (475 ES THT*S L. TS S8
B. REFRET, RAST CIOF THi* II. curet 8@
C. REHRIRMT CII-R BES TR 1. LIV S8
REREMT @fRISIT TH3
D. o IV. ZuReT 83
Choose the correct answer from the options given below:
Question:
Match List I with List II
LISTI LISTII
A, TEM EGzmwcaAaNe L W9E M
B. g:ﬁﬁ AT e [I. TFEa 2y
C. i Je-wromafg I =98 s
RN A9 e
D. iﬁﬁ IV. Wﬁ 2D
Choose the correct answer from the options given below:
(A)-(11) (B)-(iv) (C)-(1) (D)-(1)
A:
(A)-(m1) (B)-(1v) (C)-(u) (D)-(1)
(A)-(1v) (B)-(m) (C)-(1) (D)-(u)
B:
(A)-(1v) (B)-(1m) (C)-(1) (D)-(u)
(A)-(11) (B)-(11) (C)-(1) (D)-(1v)
#:
(A)-(m) (B)-(1) (C)-() (D)-(1v)
(A)-(11) (B)-(1) (C)-(v) (D)-(1)
D

(A)-(1m) (B)-(1) (C)-(v) (D)-(11)

collegedunia:
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Section: MANIPURI
Item No: 47
Question ID: 3958147
Question Type: || MCQ
Match List I with List II
LISTI LIST 11
A. TORR [. &Rw Ruwrs
B. »&°m [I. EfoTs
C. oRw [II. dCorCs
D. ®Ham IV. @ Rroers
Choose the correct answer from the options given below:
Question:
Match List I with List II
LISTI LIST II
A = I. LI BIsPdl
B. R 1. f&==a
C. F5o1F [II. @ FESAT
D. Ry IV. @12 5IFEal
Choose the correct answer from the options given below:
(A)-(u1) (B)-(1) (C)-(v) (D)-(1)
A:
(A)-(11) (B)-(1) (C)-(v) (D)-(11)
(A)-(11) (B)-(1) (C)-(1) (D)-(1v)
B:
(A)-(11) (B)-(1) (C)-(u) (D)-(1v)
(A)-(1) (B)-(1) (C)-(v) (D)-~(m1)
(&,
(A)-(1) (B)-(1) (C)-(v) (D)-~(m1)
(A)-(u1) (B)-(1) (C)-() (D)-(1v)
D:
(A)-(1m1) (B)-(u) (C)-()
(D)-(1v)
Section: MANIPURI
Item No: 48
Question ID: 3958148
Question Type: || MCQ
Match List I with List II
LIST1 LIST 11
A, THMIE W UCD [. We™ EX. CCHERe
B. 3 RS [I. ww. e sfeexfef w°sf

-

T—
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C. unf 2725eS AN 3¢ [[I. T BEfOTRAT OfD%
D. 3sfvRe uwsf RITSEs IV. TOUSE RITEIT

Choose the correct answer from the options given below:

Question:
Match List I with List II
LISTI LISTII
A, CONS¥MEIN (YILHIL I. 2. &6 ¥R
B. o ¥At 1. a9 . [t o3t
C. 2 ITH (T a1 III. &% FINCNEA M
D. fReam s Tezar IV. s3I NAFo %
Choose the correct answer from the options given below:
(A)-(1v) (B)-(1m1) (C)-(1) (D)-(1)
A:
(A)-(1v) (B)-(in1) (C)-(m) (D)-(1)
(A)-(11) (B)-(1) (C)-(1v) (D)-(1)
B:
(A)-(1m) (B)-(1) (C)-(v) (D)-(n)
(A)-(11) (B)-(1) (C)-(1) (D)-(1v)
C:
(A)-(m1) (B)-(1) (C)-(1) (D)-(v)
(A)-(11) (B)-(1) (C)-(1v) (D)-(1)
D
(A)-(11) (B)-(1) (C)-(v) (D)-(1)
Section: MANIPURI
Item No: 49
QuestionID: || 3958149
Question Type: || MCQ
Match List I with List II
LISTI LIST 11
A. 7URE RCxRfE [. ®TDRTD
B. oof gref me II. mescl
C. oof ool msfesel resfe  III. oOPIB3ex
D. ogf IfCsmtsfes keafer IV, CfOZ°F RueT RS
Choose the correct answer from the options given below:
Question:

Match List I with List II
LISTI LISTII
A. =T W=7 [. (e W8
B. & awal o [I. w==e
C. &t & oonfama W= [II. *TsmeT™

T—
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D. &t faow onfa™ qf+= IV. fRerems o@ wome

Choose the correct answer from the options given below:

(A)-(m1) (B)-(1) (C)-(11) (D)-(1v)

(A)-(11) (B)-(v) (C)-(1) (D)-(1)
A:
(A)-(11) (B)-(v) (C)-(n) (D)-(1)
(A)-(i1) (B)-(1v) (C)-(1) (D)-(111)
B:
(A-m)  (B)-(wv) (C)-(1) (D)-(m)
(A)-(1m1) (B)-(1) (C)-(1) (D)-(1v)
C:
(A)-(11) (B)-(11) (C)-() (D)-(1v)
(A)-(11) (B)-(1) (C)-(v) (D)-(11)
D:
(A)-(m)  (B)-(1) (C)-(v) (D)-(n)
Section: MANIPURI
Item No: 50
Question ID: || 3958150
Question Type: || MCQ
Match List I with List II
LISTI LIST II
A. ®EXT ¥U3 [. RERHCEIK
B. BHeUK II. C'wmaAes
C. HWHTIR III. »R%
D. »Iwss IV. &3
Choose the correct answer from the options given below:
Question:
Match List I with List II
LISTI LIST II
A, TTIE QA [. EFUsTFoN
B. FEIFN [I. |12 8=
C. THES™M . =32
D. SFYEA IV. @
Choose the correct answer from the options given below :
(A)-(IT) (B)-(I) (C)-(IV) (D)-(III)
A:
(A)-(n) (B)-(1) (C)-(v) (D)-(m)
(A)~(IIT) (B)-(I) (C)-(II) (D)-(IV)
B:

collegedunia:
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(A)-(IIT)

(B)-(IV)

(C)-(1I)

(D)-(D)
(A)-(m) (B)-(v) (C)-(u) (D)-(1)
(A)-(IIT) (B)-(II) (C)-(I) (D)-(IV)
(A)-(m) (B)-(1) (C)-(1) (D)-(1v)

@
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